0.896x%0.752+0.112x1.984

S30. The value of 0.7x0.034+2.1x(0.322) T

(4 2)3+(2. 8)3

4_ )ZW)Z _'_ézgiug

%0.752+0442x4+984— (4.2)3+(2.8)3

T ATl
Mxo ea-zrﬂzrx(oeeeﬁ (4.2)2-(2.8)2
‘°°°909 Frcrert Tgr7S 5 |
> Aﬁl 08 b) 10 32 ¢)10.92 d)9.68

' gxg’%ee (3+2)
‘% ~560. Mx(s z)

= L2py was
SgUUWTE
\15 €




52). If the sum of two positive numbers is 65 and
square root of their product is 26, then the

a+b (sum of their reciprocaldis:
Ife Q@ udATcHS FEIEHT FT AT 65 §,

Ab dl 37 AT T AT AT HY
5 3 1 7
- 45 S Az b) 5; ‘)52 ds;

/26226 SO\TO;‘Qé
)

SSC CGL T-2 2020 2



=4
b= 9
Zh= 6+6=42 6

/2'8 = -1048==~-|

# = -154= 23 -5

C= —-20

5%2.If (2*+3y+4)(2x+3y qS_) is
equivalent *to (ax + by? +.2hxy +

29x + 2fy + c), then what is the value

of{(g+ f —c)/abh}

AN 2x+3y+4)2x+3y—5)

(ax? + by* + 2hxy + 2gx + 2fy +

¢), F WX & A FME {(g+f-

c)/abh}
%’,5/432 b) 19/108

c)19/316 d)37/216
L8120 g
Uy T
il 2%xWy4y 6
i iy 28

| SSC CHSL 9 Dec 2019 S1 | 3



5§33 . For a number, greater than one, the

@ between _itself and its

dn‘%.:. | x Suvn reciprocalof itself
5 and its reciprocal. By how much
percentage (nearest to an integer) is

x.-_l_ 5 = '11-_1 the(square of the num@ less than its
X Zd 6 .
tF ¥edl & fav, w ¥ Aftw, @y Ik

5 Uqg= 6 3F IREIRE F fiT F1 JIR @y IR

T = 3% IREIRE AT FT 20% Bl Fras

=) 2_13 T’IB yfoera @ (v& quites & fAwe) wear &t
- 7\'1 e T 50F g § HHA 82
fu a) 122 18
.-)(2. \ {z.\ c) 81 d) 33

| SSC CHSL 2018 | 4






5 . With a reference to a number greater

than one, the@between itself

and its reciprocal is 25% ofof
itself and its reciprocal. By how much

percentage (correct one decimal place)
is theEfourth power)of the number
greater than its square?

TF 4§ AOe &I & e &, '@&T IR
3IF UREIRF & oI & FaW, &7 3R
3% IREINF & I FT 25% g1 fFaa
gfaerd & (A8 U SAANT TART) HE&AT
$r aleft arg 39F TF F 3w 82

a) 57.8 b) 62.5

c) 64.5 /94’66.7

|SSC CHSL 11 Jul 2019 S1 | 6



515. If (1.25)(1 — 6.4 X 107°) = 1.2496 + a, then a is equal to:
afg (1.25)(1-6.4x1075) = 1.2496 + a, @ a & TR AT §:
ig5=_1_ 2)0.0016  b)0.00016 c) 0.0032 %00032

= .25 - .00008 - 2MA%= @ 2
.00008 L= —
1249 € =t
Q= ,25000
12y96 g
.000%2




526 If x = 1 + /2 + /3, find the value of 2x* — 8x3 — 5x% + 26x — 28.
IR x=1+VZ + V38 ar2xt — 8x3 — 5x% + 26x — 28 T A
F7 8?2

a) 2vZ b) 3v3 ¢)5v5 /7&/6
= ﬁ e

A= 2% | = 5426

S -2z M= 9[g

R
) ) 7(31 U416 WPy -8 = Y '—5323%: °J6
_ - = B
) x1 \_4\41'5_\,\12__\_\ 6% —g o QX \’\>
7 B P g ixa b= (%xl- 612 )

~5xt 426K -\2




2 1 1 1 1 1 1 1

5%]. The value of (a3 +2az+3a3+2a6+1)(a3—2a6+1) —az(az —2),
When a = 7, is:

2 1 1 1 1 1 1

(a3+2az2+3a3+2a6+1)(a3z2as+1) —az(az —2), N AL, I

:);7 & 1 (’L+g—r?_) \
ﬂ d) 7 Z] +z %7&37_

Q=° > W 1-0=1 = o-gar 4 430>

< (\+2+3+2+0<_ 7_.”)_\(,7_) O+l <

“tﬁz Xy \32—21 < 9/@ /
Z;Ll/,(x +|+20@_+2 i /9( ax
T Qa *%stza?—*zqs_\\

[SY

g




S38. If x+y=1 and

€« =
+H ’ @ Xy(xy — 2),= 12, then

<) x’-+31+z;¢.a = the value of x* + ytis:
_ I x+y =1 ik
=) x-u(.] = '-1’Ca' xy(xy —2) =12 , o
2 4 4 :
S byl paaPy’s [+Uly T xt+y* & A
3 3 \a, ’M& a) 19 b) 20
=) qc,“-v—a“ = |+ 2y Uny S5 c) 23

=z |+ il‘l;aQCa-Z)J
12

= |+2yY= 25




(“4x-3)  (4y-3) (42‘3) = 0 then the value Ofylc 5 +

SHA. = —+
IR (4xx—3) (4yy 3) (4zZ D_otar L T4l +§=7
a)9 L b3 ra d6

2 24+d2-_2 -0
1. K2 _5} g % =
= - 2 pd 4
> 12 = acx a*,,
3) Y= J 1-—' d
~ g =2




Suo. If 3_5x+3 + 8552 _ 0 the the value of 2 + 2 + 2
Zz X y z
@m Y1830 _o ¥ ar 24242 @1 AN
2x 2z X y z
a)20 ¥ /)’10 c)5

2% 2z 23 Za.+27- 2z
ch-p— z) fo 45’5

+ +2 =10
z

oc|

2z
'3

D —



gyl. Ifa + b + ¢ + d = 4 then the value of

1
(1-a)(1-b)(1-c)

1 1
@ (1-b)(1-c)(1-d) + (1-a)(1-c)(1-d) +

(1-a)(1-b)(1-d) IS
1

gfe a1+ b+c+d :1 45{[1 TConie T Thiona
ot odd  Tatnaay N 0%t |
Ao [ b) 1 c) 4 d) 1+ abcd
I—ol + =& 4 (-h + I-C Y- (a+h+cad) 0
(-) (J-b) (1-<) (1-d) U-0) (1-5) (1<) (1)

_l_

13



rw)z

542- (3x —2y):(2x + 3y) = 5: 6,then one of the value of (%/——i/?

@ IR Bx—2y):(2x+3y)=5:6 g ar (3\/\/?;\/:)
at [ ws a9l s
3x-24 5 Yy - 2_ 5
21_+33 &6
5 Br-i2y = 0%+3Y
=) 8x = 2_‘73 C,LD

=) - 27
8

a
= Yz _3
o}

I —




((a+b)3—(a-b)?) _,

(a+b)2+(a-b)2
(a+b)3—(a-b)?) ,
(a+b)2+(a-b)%2
b) b ) g d) %

5Y3. If 3a® = b? # 0,then the value of

@W3a2=b2¢0%Fﬁ(
%
2

3
(a+b) = a3+b3+3a1b+ go.b:
2 3 ,3 L2

= 2b+6a%b /
Qb (bz-l— 2a?)
. 2 (a*+)
puk b=3a* =, - ’ib(é}f)zéb
Dxupr 2

D —




suu. If x> — 4x* + 19 = 6(x — 1), then what is the value of [x2 + ﬁ ?
A -4’ +19=6(x - 1) &, |2 + —|F1 7 T 2

a)3 ¢ )5 }y’é d)sj/

_yer= bz -as

&
o volws z-M
6% Y - b
Z-Y

SSCCGL, 21 Feb 2018



5U5. If ) (—) =3 and ( ) (Z) = 9 then what is the value of§ ?

@qﬁ (}) =37 (3)- (;)=9%,a’r§a:rm?rarm%?
ﬂ:;: \/ b) Zigz | c) iizz d) Zizzz
3 x( br +aY = Bab) azr-hy= qab
3bw +3a4= Gab

(ov-poring velud of qab;
3bw +3ay = ax-by
5 Gardy= (@-3)x
=) 3a+h _ X

a3b ¢




546, pr + -=m and 1 + = = n, then whatis - equal to?

@ qﬁ”+—_m3ﬁ1"+——n% ar = ﬁb‘aﬁw%”

a) —Z’lﬁi’,J ZT"ZZ | /4’,2, " ) ping

Py +9x=M*G4 9y +Px =Ny
wcw.va Vadut of 2y,
Py+ix - qytPe
™ 7

=) NPy +Mqx = mqy +MPpT
2 (Mg-mp)x = (M9-MP)y

=) x - W\"L—‘Y\P - ﬂP-mj-_
& ng-wp mp-ng




m
W”C:nr\= mn ,x_‘n ocml. If mx

S x’"= ‘n'Lﬂ afe
putti g MvMin/ 1

xMm4xn xm_xn

] | a) —22
-+ " xn(mz_nZ)
L &L Ao 2mn
m m ) ———
x"(m2+n?)
m m
- +
= (n+m)x ("""')7!.
m ) m 2"
x” mm " KN Mitwe)

— nx™ = 0 then what is the value of

1 1
@ m n+ m
XM +x X —xn

mx™ —nx”—O% ar x"

in terms of x™?
gar
ST AT FIT 7

2mn

o) )
2mn

H )

\
SSC CHSL, 24 May 2022 S1



cu3- The_soO- b value 24b» of

Nww(,atrr/ﬂfﬂ ﬁ' d-wi"\‘i "'fr‘"b @ "0.325%0.325+0.175%0.175-25x0.004550

lies
. 6 5%0.0065x%x3.25-7x0.175%x0.025
o("””‘""‘""/él 7:)— " : between:
So Cancelled. 0.325x0.325+0.175x0.175-25x0.00455 . o
5x0.0065%x3.25-7x0.175%x0.025
2, 2 . '
a“+ b—20b _ (a-b)_ a-h 0.25 and 0.35 b) 0.35 and 0.45
ax B atbh- a+b “¢)0.21and0.31 d) 0.45 and 0.55

2
- 228 -17¢ - 450 = .2
328 +1715 fOO

SSC CHSL 9 Dec 2019 S3 i
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